)

=
2

(215
(C1EE)
C1ERE)

850
40
100

(13FE)
(155 %)
(154 )

828
33
76

oK K

ol i

N“ # = | Ao b
EH@ o W K
ﬁ._...frm -
mﬂi 1 1
LR = Do
o¥S g Vo
._5...0“.7 1 “
.—bn_/ b ! |
€ \ Lo

Lﬂh (g

T ﬂmi

e T By

a7 s

]
=9.0m

BRTHEBER

(RREEH)

X

V]

JRAFFTEERE

(AH)
)
(E %)

_[JRAFNH EERFEME

B

T4 8- FIRIRGR

<.

HE]

WESBE
53

E

|

i

HRIL

E#k Y

1, 100m, W

L

MR AEE- £
1=

#
£

HREH
5%

BEREX

T XEREEEE

&

ML= FRE DR

=M
n

EIREEE

WEREIDRUH

mENEE

it

l

SR T
Hﬂ!ﬁ,mﬂ%&@f —uﬂﬂ_ f—u.._.bﬂn_.“n -
) i E

RFE ©
AT
¥

b

BE Y R

11
15

Ll

mEREE
ot 2 5 AR

=
=

FEED

Gl
25

8%

i R EE AR

=t
—
L]

, -‘:It ‘} iz
A
P
H

e




